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1 woid FUN_00400%a8 (void)

4 int iVarl:
5 int i;

g byte input [3€]:

] setbuf (stdout, (char #*)0=x=0):

9 setbuf (stdin, (char #*}0x0);
10 printf("Give me your flag:™):
11 scanf ("%32=", input);
12 i=0;

13 while {i < 0x20} |

14 input[i] = input[i] ~ 0x200 - ({char)i: ¢ BB TR (0x20-1)
15 i=1i+ 1;

16 }

17  iVarl = strncmp({char *)input, fdata,5): /EISFETRAEEEA "0l {g”
18 if (iVarl == 0)

19 f S-end 004007£0( (char *)input): /SRR RET MR
20}

21 else {

22 puts {"Wrong™) ;

24 return;

1 void £ S-end 004007f0(char *op str)

8]

(&)
—

4 2ize t lens;

L int iVarl:
& uint i;
] i=5;

9 while (lens = strlen(cp str), i < lens) {

10 if ({1 & 1) = 0) { / B

11 op_str[i] = (byte) {(uint) ((intlop_str[i] << Oxla) >> 0x18) op_strli] >> &;//B{uaEefipiA{k2fr, Eefr
EErfimiAne EETFhENRTE

12 1

13 el=e {//ZFENET

14 op_Str[i] = cp _str[i] >> 2 | (byte)((uint) ((int)op_str[i] << Oxle) >> 0x18)://SelvaiBzfiniAiEef, {E2b6F
Esfipihnu BETENAREU

15 1

16 i=1i+1;

17 }

18 i¥arl = atrncmp(op_str + 5, PTR_ARRAY 00410404, 0xlb);

19  if (iVarl == 0) {

20 puts {("Right!");

21 1

22 elae {
23 puts {("Wrong! ") ;
24 }

25 return;



flag = "qctf{"

keys = [0x52, OxFD, 0x16, OxA4, 0x89, OxBD, 0x92, Ox80, 0x13, 0x41l, ©x54, OxAQ, 0x8D, 0x45, 0x18, 0x81,

E, OXFC, 0x95, OxFO, 0x16, 0x79, Ox1A, Ox15, OXx5B, Ox75, OX1F]
print len(keys)
for i in xrange(5,0x20):
for ¢ in xrange(0,0x100):
fst = (c ~ ((ox20-1)))
if (1 % 2) == o:
res = ((fst << 2) % 0x100) | (fst >> 6)
else:
res = (fst >> 2) | ((fst << 6) % 0x100)
if (res == keys[i-5]):
flag += chr(c)
print flag

1 flag = "qetf {7

2 keys = [0x52, O0xFD, Ox16, Oxid, 0xB3%9, 0xBD, 0x92, 0x80, 0x13, Oxdl, 0x54, Oxal, 08D,

3 print len(kevs)
4 for 1 in xrange (8, 0x200:

& for ¢ in xrange (D, 0x100) :

B fat = {c 7 ({0x20-i1])

T if (1% 2) = 0:

8 rez = [(fzt << 20 % 0x100) | (fzt »> 8)
9 elze:

10 res = (fzt »» 2) | ((fzt << @) % 0x100)
11 if (res = keysz[i-5]):

12 flag += chric)

13 print flag
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